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{Jse the graph to answer the questions. Fill in the blank, and write a number sentence.

Class Play Audience f_'represents 1 persan

Students Te_jg_f:hers Parents
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1. How many more students are at the play than teachers? 7 — 3 = 4

{ ¢an see which has more and
which has less by looking at
the squares. | can subtract to
find how many more or'less.

There are 4  morea students than teachers.

2. How many fewer parents are at the play than students? 7 — 5 = 2

There are _Z fewer parents,

3. If 2 more teachers attend the play, how many people will be there? 5 + 5+ 7 =17

There will be _17 people.

| can add 2 more teachers to the 3 teachers. This equals b
teachers, | know 5 teachers and 5 parents equals

EUREM tesson 13: Ask arid answer varied word problem types about a data-set with 25

MA?N‘- three categoyies.
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